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Answer Key

PART I: WRITING (35 MARKYS)

PART Il: READING COMPREHENSION (35 MARKYS)

A. Choose the best answer according to Passage 1 (4 x 2 = 8 marks)

1. d. both girls and boys should be educated.

2. b. girls had to cover their faces.

3. c. to defend girls’ rights to go to school.

4. d. He let her be free to achieve her personal goals.

B. Complete the paragraph using only ONE word from Passage 1
(5 x 2 =10 marks)

1. influential 2.raised 3.illiteracy  4.weapons  5.education

C. Indicate whether the following statements are TRUE or FALSE
according to Passage 2. (6 x 2 =12 marks)

1.True 2.True 3.True 4.False 5.False 6.False

D. Make short notes from Passage 2 under each of the headings
below. (5 x 1 =5 marks)

a. Kinds of fans
e 15% of young people have an ‘entertainment —social’ interest

o 5% feel that they have an ‘intense—personal’ relationship with a

celebrity
e 2% of young people have a ‘borderline pathological’ interest



b. Personality characteristics of celebrities from TV reality shows

e vanity
e willingness to exploit other people

PART Ill: USE OF ENGLISH (30 MARKYS)

A.

Complete the second sentence so that it has a similar meaning to
the first sentence, using the word given. Do not change the word
given.

(5 x 1 =5 marks)
... not to be late/ that she wouldn’t be late ...

.. should have been invited ...
.. would not be ...
.. does not drive as carefully ...

.. rather you did not ...

Complete the gaps with ONE suitable word. (10 x 1 =10 marks)

1. which/that 2. been 3.is 4.t0  5.having 6. were
7.t00 8. are 9. well 10. The

Use the words in brackets to form words that fit the blanks.
(10 x 1 =10 marks)

1. GLAMOROUS 2. REALITY 3. COMMITTED
4. DETERMINATION 5.DISCOURAGED 6. ENSURE
7.REASONABLY 8. BROADEN 9. DAILY 10. PRESSURE/S

. Complete the dialogue below using the correct sentence a-e from

the box. (5 x 1 =5 marks)

1.C 2.E 3.B 4D 5A



